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            Date of Exam:21-8-17
Course Code and Title :CS1111 Genetic Algorithm and Machine Learning
	PURPOSE
	This course gives a sufficient understanding of the concepts of Genetic algorithm and helps to identify the potential utilization of the GA.

	INSTRUCTIONAL OBJECTIVES
	STUDENTOUTCOMES

	At the end of the course, student will be able
	
	
	
	
	
	
	

	1.
	To be familiar with the basic concept of GA and machine learning .
	a
	
	
	
	
	
	

	2.
	To learn and analyze the mathematical foundations for Genetic algorithm
	a
	
	
	
	
	
	


At the end of the course, the student will be able to:

a. Understanding of the concepts of Genetic algorithm and helps to identify the potential utilization of the GA.
	Question

No.
	Reference to

IO
	Reference to

Outcome
	Marks Allotted

(Total 50)
	Marks Scored
	Outcomes

Met Yes / No

	1.
	2
	a
	4
	
	

	2.
	1
	a
	4
	
	

	3.
	1
	a
	4
	
	

	4.
	1
	a
	4
	
	

	5.
	2
	a
	4
	
	

	6.
	1
	a
	15
	
	

	7.
	2
	a
	15
	
	

	TOTAL
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           Date of Exam: 21-8-17
Course Code and Title : CS1111 Genetic Algorithm and Machine Learning
 SET - A1
PART A
Answer ALLquestions               

5*4=20
	Sl.No
	Question
	Course Outcome
	Bloom’s Taxonomy
	Marks

	1
	With an example define the process of genetic algorithm
	a
	Application
	4

	2
	How does genetic algorithm differs from traditional optimization technique?
	a
	Application
	4

	3
	Define length and order of schemata. How many schemata are possible for alphabets of cardinality K?
	a
	Analysis
	4

	4
	Write down the schema theorem in the form of equation and expand each notation.
	a
	Knowledge 
	4

	5
	Give the formula to find the survival probability of a schema H after crossover.


	a
	ComprehensionApplication
	4


 

PART B



Answer any TWO questions


2*15=30



	Sl.No
	Question
	Course Outcome
	Bloom’s Taxonomy
	Marks

	6.


	Maximize the function f(x)=x2 , 0≤x≥31 using genetic algorithm and illustrate how the off-springs are generated.

OR

Explain schema theory in detail
	a
	Application
	10

5

15

	7
	Consider the string and the schemata of length 11. For the following schemata calculate the probability of surviving mutation and crossover if Pc=1.0 and Pm=0.001: ***1**0****, 1*********0, *1000010*11,***111*****. Recalculate the survival probability of mutation for Pc=0.9 and Pm=0.1

OR
Calculate the number of strings that matches the schemata of length 5, H1=1****,H2=*11** and H3=1***0 in first generation in maximization of f(x)=x2, 0≤x≥31 function and estimate the number of strings that will match the schemata H1,H2 and H3 in next generation. (consider Pc=1.0 and Pm=0.001)


	a
	Application 
Comprehension

Analysis
	15
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           Date of Exam: 21-8-17

Course Code and Title : CS1111 Genetic Algorithm and Machine Learning
 SET – A2
PART A
Answer ALLquestions               

5*4=20
	Sl.No
	Question
	Course Outcome
	Bloom’s Taxonomy
	Marks

	1
	Write about any four optimization technique.
	a
	Application
	4

	2
	With an example give the purpose of crossover and mutation operator.
	a
	Application
	4

	3
	Define length and order of schemata. How many schemata are possible for alphabets of cardinality K?
	a
	Analysis
	4

	4
	Write down the formula for find the survival probability of schema H after crossvover.
	a
	Knowledge 
	4

	5
	Compare Natural and genetic algorithm terminology (chromosome,gene and genotype).

	a
	ComprehensionApplication
	4


 

PART B



Answer any TWO questions


2*15=30



	Sl.No
	Question
	Course Outcome
	Bloom’s Taxonomy
	Marks

	6.


	Maximize the function f(x)=x2 , 0≤x≥31 using genetic algorithm and illustrate how the off-springs are generated.

OR

Explain schema theory in detail
	a
	Application
	10

5

15

	7
	Consider the string and the schemata of length 11. For the following schemata calculate the probability of surviving mutation and crossover if Pc=1.0 and Pm=0.001: ***1**0****, 1*********0, *1000010*11,***111*****. Recalculate the survival probability of mutation for Pc=0.9 and Pm=0.1

OR

Calculate the number of strings that matches the schemata of length 5, H1=1****,H2=*11** and H3=1***0 in first generation in maximization of f(x)=x2, 0≤x≥31 function and estimate the number of strings that will match the schemata H1,H2 and H3 in next generation. (consider Pc=1.0 and Pm=0.001)


	a
	Application 

Comprehension

Analysis
	15


